EBESXTILAB 1/2

—FK 5/30(%) 5/31(8) 6/6 (L)
JIE 15z HE 5= EEFHQ
1R 2R 3R 4R SF F
‘I 1 B HE 29. (T-MACH)
EBE 500 29. (T-MACH) I
2 bye
3 ER E 14 (EETC) 11:35
4 EFFH E— 25. (HLTC) )
EffE EXE 25. (HLTO) 10:15
5 BEH 5hBH 02. (BEART#%FT) ’
R KeF 02. (EARMEF)
6 bye
10:15
7 bye
‘I 5 8 ZiE B N (FyrLrd)
Zi& EHxE 3. (Fr L)
-I O 9 EiE HE 15. (BETY)
&5 BmiLF 15. (BETY)
10 bye
10:15
11 bye
NI BBF 21. ()a—) 10:15
13 B 10. (V=—[EX) :
B £ 10. (V=—[EX)
14 bye
10:15
15 bye
5 % 16 A #B— 3. (Fr L)
WH BH N, (FrL D) 9:15 I
3 == 17 ENTRE 3 15. (BETY) ‘
B ! re as 08. HFEAT C)
18 bye _
1g BB BX 19. BGOETC) 11:35
R ERT 26.(FTC #HEDHE) 10:15
20 BER K= 23. (Fx)—) )
= &F 23 (Fx)—) 10:15
21 XE @ 13.(T. O. P) '
MEX ME N (FyrLrd)
22 bye
10:15
23 bye
‘I 3 24 Tinm RE 08. BTEARTC)
Tk HEF 08. BTEXRTC)
TH E8F 08. FTEARTC)
26 bye
10:55
27 bye
28 HH Eih 15. (BETY)
HHE 3 15. (BETY) 10:15
29 =g BEE 17.(FLRAKTC) :
o EIF M. (F¥2ATC)
30 bye
10:55
31 bye
6 392 HER BT 5 23. (Fx')—)
RK #BF 23. (Fx')—)

2015404 A07HR




BEXITILAB

2/2

—FK 5/30(%) 5/31(8) 6/6(x)
JIE 15z HE 5= EEFHQ
1R 2R 3R 4R SF
7 3 b A=Y N 2. (2 b, 4V)
EK EBF 4. (v b, 41V)
34 bye
10:55
35 bye
36 fiE &% 25.(HLTC)
FiE X8 25. (HLTC) 10:15
Mk FOsE 10. (V=—FEX)
38 bye
10:55
39 bye
-I 2 40 B R 16. (ZET@EXR)
s EF 16. (ETHEENXK)
‘I 6 41 EXEE b 19. (FOETC)
BiE ERF 19. (FDETC)
42 bye
11:35
43 bye
44 XIRE BiE 15. (BETY)
A HE 15. (BETY) 10:15
45 /J\E %% 23. (Fx')—) ’
46 Lk 59T 3. (FrL D) )
47 bye
4 % 48 B2 =h 04. (721)Y)
BRE E5 04. (721)) 9:15 I I
8 = 49 AR #HBA 3. (Fr L) ’
L R T 3. (F v LoD
50 bye
11:35
51 bye
52 FE #3% 04. (721))
FE =i 04. (721)) 10:55
53 = 01. (ERKEMETC) '
MHE TEX 00. (£8). #£1¥)
54 bye
11:35
55 bye
‘I‘I 56 KIE XX M. (F¥>RXTC)
KIE EF M. (F¥>RXTC)
14 57 K& B4 N (F¥>XTC)
& 0&H M. (F¥2ATC)
58 bye
12:15
59 bye
60 BIA X 24 (2 b, 4V)
& MEF 2. (v b, 1) 10:55
61 Al & 19. (FOETC) '
ne & 00. (£8). 1) 12:15
62 ABREA =% 01. (EXEMETC) '
2R LsF 0l (EAEETC) 13:35
63 bye
He & 2. (v b, 1)
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